MO03

12

-

281

LR

Independent Schools
Examinations Board

COMMON ENTRANCE EXAMINATION AT 11+

MATHEMATICS

MARK SCHEME

This is a suggested, not a prescriptive, mark scheme.

Monday 18 January 2021

M: 1 means 1 mark for the correct method.
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Q. Answer Mark Additional Guidance
1. a |3t 1 a1 .
b) |70 1 A1 o
c) 57 1 A1
d) 4100 1 A: 1
e) -4 1 A1
f) 41 1 A: 1 .
Q) 607 1 A:1
h) 2 1 A1
2. a) i)|3 1 A:1
i) | 1or36 1 A:1
i) | 1,30r6 1 A
iv) | 36 1 A1
b) 45 and 55 2 A: 2 award 1 mark for
each
3. a) 6 1 A:1
b) 233 1 A:1
c) 7 1 A:1
4. 3 A: 1 for 32 and 37
4 37
A: 1 for 7 and 61
e 61
A: 1 for 13 and 104
A3 109
5. a) 62 1 A1
b) 15.5 1 accept 15.50
c) 3100 1 A1
d) 2.5 2 A:2
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Q. |  Answer | Mark | Additional Guidance
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shape A correctly plotted, drawn and 2 A: 1 for (3, 7) plotted
labelled
A: 1 for joining points
and labelling shape
b) trapezium 1 A:1
c) shape B correctly plotted 2 A: 1 for orientation
A: 1 for position
d) shape C correctly plotted 2 A: 1 for 3 units left
A: 1 for 2 units down
e) 12 cm? 1 A: 1
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M: 1 for 460
A: 1 for answer
ERET: ! -
g_#_ﬁ calculation apg::)sﬂr:fte 2 A: 2 for four correct
e » 45 A: 1 for two correct
| 49°:98 // 2400
0.87 x 28.1 24
?.8 +0.0032 / 247
19.4 x 12.72 / 0.24
9. a) 47304 2 M: 1 for valid method
A: 1 for answer
b) 243 2 M: 1 for valid method
A: 1 for answer
10. a) 3000 1 A1
b) 87.7 1 A:1
11. 1066 1 A:1
12. a) i) | 6h32min 2 A:1for6h
A: 1 for 32 min
i) | 00:07 or 12:07 a.m. 1 A:1
b) £8.63 2 M: 1 for 11.37 seen
A: 1 for answer
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—a. | Answer | Mark | Additional Guidance
/”’J—a—f —
13. a) 5 1 M: 1 for 35
A: 1 for answer
/,_ALT#— e D
b) 0 2 M: 1 for 75
A: 1 for answer
/— 4 -
c) 15 2 M: 1 for 1-3;
A: 1 for 14
[
d) 50 1 A1
14.a) |08 1 A: 1
b) |425 1 A: 1
15. 0.7cm, 70mm, {5 m, 0.007 km 3 A: 3 deduct 1 mark
for each error or
omission
16. 96cm’ 3 M: 2 for valid attempt
A: 1 for answer
17. a) 60° 1 A1l
b) a=24° 4 M: 1 for 156° seen
b= 222° A: 1 for 24°
M: 1 for 138° seen
A: 1 for 222°
18. a) £4.20 2 M: 1 for 1.2kg equivalent
to 1200 grams
A: 1 for answer
b) £12 for 50 suet balls 3 M: 1 for sensible working
any valid explanation A: 1 for clear explanation
A: 1 for answer
c) £12.80 3 M: 1 for 10% of £16 is
£1.60
M: 1 for 20% of £16 is
£3.20
A: 1 for answer
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o " Answer | Mark | Additional Guidance

19. a) P=6 1 A1l

b) F=45 2 M:1for9 x5

A: 1 for answer

C) A=7 2 M: 1 for 105 + 15
A: 1 for answer
i‘—-—
20. 13 1 A:1
21.a) i)|2 1 A:1
i) | 4 2 [Mifori2+3

A: 1 for answer

b) 4 2 M: 1 for valid attempt

A: 1 for answer

22. a) 24 2 M: 1 for 36 seen

A: 1 for answer

b) 21 2 M: 1 for 3 or 30 seen

A: 1 for answer

c) 10 or82 2 M: 1 for square numbers
listed

A: 1 for answer

23. 19cm? 3 M: 2 for the areas of any
two right-angled
triangles seen

A: 1 for answer

Total 100
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